—ixERCHIE

i TREE ZERE BIRER REEE
LR 4 4 4 10
HASE R 12 12 12 10
BA R 10 8 8 10
@R 6 6 6 1.0
PR CIEF R 7 7 7 1.0
REEHFR 3 3 3 1.0
% 42 40 40 _
—iERCHE [EMERE]
21 TREE ZERE BRER EEEE
LB F R 1 1 1 1.0
BAEF R 1 1 1 10
BASCF R 1 1 1 10
ArEUFE 2 2 2 1.0
PR/ CIEF R 3 3 3 1.0
RERHFR 2 2 2 1.0
a% 10 10 10 _
—ixERDARE
Fr TRREE ZERE BIRER EEEE
1L F R - - - _
AAE R 5 5 5 10
AASCFER 3 3 3 10
HEBUFR - - _ _
BE R OB R 1 1 1 10
RERMFR - - — _
= 9 9 9 _




REAZLET X FHAAX (FIHARRE)

FR GREE# TEREH BIEEH FEER
R 1 1 1 1.0
BAEZFH 15 14 14 1.0
BAFH 11 11 11 1.0

HeEuFR 3 3 3 1.0
peAR /O EFR 7 7 7 1.0
RERAFR 7 6 6 1.0

A&t 44 42 42 —

REAZHET R FFIAARX (RBAAER)

FR GFRE TEREH BIEEH EEEE

R 2 2 2 1.0
HA S5 H} - — - -
H A F 1 1 1 1.0
HeEuFR 3 3 3 1.0
peAR/ O EFR 2 2 2 1.0
RERUFH 1 1 1 1.0

a% 9 9 9 -




